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Name: __________________________________



1
Which expression represents [image: image1.png]122 - 62 4 2x
I



 in simplest form?

	1)
	[image: image2.png]6x2 — 3x





	2)
	[image: image3.png]10x° - 4x





	3)
	[image: image4.png]6x2 — 3x+ 1





	4)
	[image: image5.png]10x% —dx+ 1







2
The expression [image: image6.png]ot - 272
i



 is equivalent to

	1)
	[image: image7.png]3x(1 - 3x)





	2)
	[image: image8.png]3x(1 - 3x%)





	3)
	[image: image9.png]3x(1- 9x%)





	4)
	[image: image10.png]9x*(1 - x)







3
Which expression is equivalent to [image: image11.png]- 1axt v 2n?
P



?

	1)
	[image: image12.png]— gy





	2)
	[image: image13.png]— gy





	3)
	[image: image14.png]9xt 41



`

	4)
	[image: image15.png]9xt 41







4
Which expression(s) are equivalent to [image: image16.png]


, where [image: image17.png]x#0



?

I. [image: image18.png]il



     II. [image: image19.png]


     III. [image: image20.png]



	1)
	II, only

	2)
	I and II

	3)
	II and III

	4)
	I, II, and III



5
Which expression represents [image: image21.png]- 12
=6



 in simplest form?

	1)
	0

	2)
	[image: image22.png]2x





	3)
	[image: image23.png]4x





	4)
	[image: image24.png]2x+ 2







6
Which expression represents [image: image25.png]25x-125

-25



 in simplest form?

	1)
	[image: image26.png]RS





	2)
	[image: image27.png]




	3)
	[image: image28.png]




	4)
	[image: image29.png]25
x+5







7
Written in simplest form, the fraction [image: image30.png]


, where [image: image31.png]


, is equivalent to

	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]—x(x+3)
Gen)






	4)
	[image: image35.png]xx-3)
(3-x)








8
Which expression represents [image: image36.png]


 in simplest form?

	1)
	[image: image37.png]




	2)
	[image: image38.png]




	3)
	[image: image39.png]




	4)
	[image: image40.png]—3x-10
35








9
Which fraction represents [image: image41.png]


 expressed in simplest form?

	1)
	[image: image42.png]




	2)
	[image: image43.png]




	3)
	[image: image44.png]x4





	4)
	[image: image45.png]25
x+20
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Which expression represents [image: image46.png]


 in simplest form?

	1)
	[image: image47.png]




	2)
	[image: image48.png]




	3)
	[image: image49.png]—2x-5






	4)
	[image: image50.png]—2x-15
3%
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For all values of x for which the expression is defined, [image: image51.png]243
X4 5x46



 is equivalent to

	1)
	[image: image52.png]




	2)
	[image: image53.png]x+2





	3)
	[image: image54.png]3x
X+ 6






	4)
	[image: image55.png]46
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The expression [image: image56.png]2+ 10x-28
Ax+ 28



 is equivalent to

	1)
	[image: image57.png]




	2)
	[image: image58.png]




	3)
	[image: image59.png]=
3





	4)
	[image: image60.png]=
3
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Which expression represents [image: image61.png]X - 5x+6



 in simplest form?

	1)
	[image: image62.png]




	2)
	[image: image63.png]-x-f6
T5x+6






	3)
	[image: image64.png]




	4)
	[image: image65.png]
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If the area of a rectangle is represented by [image: image66.png]x4+ 8x+ 15



 and its length is represented by [image: image67.png]


, which expression represents the width of the rectangle?

	1)
	[image: image68.png]




	2)
	[image: image69.png]N





	3)
	[image: image70.png]x4+ 6x+5





	4)
	[image: image71.png]x + Tx+ 10
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Express in simplest form:  [image: image72.png]450*b’ - 902’8
1548





16
Express in simplest form:  [image: image73.png]




17
The area of a rectangle is represented by [image: image74.png]


.  If the width of the rectangle is represented by [image: image75.png]N



, express the length of the rectangle as a binomial.

18
For all values of x for which the expression is defined, [image: image76.png]2+ 22t -9x- 18




, in simplest form, is equivalent to

	1)
	3

	2)
	[image: image77.png]




	3)
	[image: image78.png]




	4)
	[image: image79.png]-3
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Which expression can be rewritten as [image: image80.png](x+ Tx-1)



?

	1)
	[image: image81.png](x+ 37 - 16





	2)
	[image: image82.png](x+ 3% - 10(x+3) - 2(x+ )+ 20





	3)
	[image: image83.png](x- D& -6x-7)
Ge D)





	4)
	[image: image84.png]o+ D +4x+3)
[eT5)
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For all values of x for which the expression is defined, write the expression below in simplest form.

[image: image85.png]
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Written in simplest form, [image: image86.png]


 where [image: image87.png]


, is equivalent to

	1)
	[image: image88.png]c+d
d+ic






	2)
	[image: image89.png]d+ic





	3)
	[image: image90.png]—c-d
d+2c





	4)
	[image: image91.png]—c+d
d+2c








1
ANS:
3

[image: image92.png]1 -6+ 2x  2x(62° = 3x+ 1)

2
= = 6= 3x+ 1




REF:
011011ia

2
ANS:
2

[image: image93.png]oxt - 27°

175 i

- oxt(1-32%)

B 3x(1- 3%




REF:
fall0718ia

3
ANS:
4

[image: image94.png]'t
(- 9xt 4 1)
2




REF:
081222ia

4
ANS:
4

[image: image95.png]


  [image: image96.png]



REF:
011921aii

5
ANS:
2

[image: image97.png]' - 125 _ 2a(x=6)
=6 =6





REF:
060824ia

6
ANS:
4

[image: image98.png]5x-125 __25(x-5) 2
P25 GeGE-5) 545




REF:
080821ia

7
ANS:
1

[image: image99.png]x(x*-9)
-(x'-9)





REF:
012023aii

8
ANS:
2

[image: image100.png]Ix-10 _ @-5E+2)  x+2

25 G+5)x-5)  x+5





REF:
061216ia

9
ANS:
3

[image: image101.png]-25 _(x+5)E=5 _ x+5

Pox-2  GrdE-5)  x+4




REF:
011424ia

10
ANS:
2

[image: image102.png]=15 _@-5E+3) x-5
+3x | x(x+3)





REF:
060921ia

11
ANS:
2

[image: image103.png]243 x(x+3)
Pasxet  x+DE+3)




REF:
082215aii

12
ANS:
1

[image: image104.png]2 al0z-28 2+ 5x-14) 2x+DGE-2) _x-2
4x+28 - 4x+28 T A+ T2





REF:
011327ia

13
ANS:
1

[image: image105.png]Pox-6 _G-DE+D  xe2
X -5x+6 G-E+2) x-2




REF:
011130ia

14
ANS:
1

[image: image106.png](x+5)(x+3)
x+5

+3




REF:
061307ia

15
ANS:


[image: image107.png]3a2b? - 6a



.  [image: image108.png]453 — 904°, 4p3 2,
457 0y _ 45"V b oy g,
154%h 15¢%h 154





REF:
081031ia

16
ANS:


[image: image109.png]


.  [image: image110.png]o1 @lE-D
Pitrel GrDGED





REF:
011233ia

17
ANS:


[image: image111.png]Sx-24 _ (x-8)(x+3)

x-3 x-3

+3




REF:
061131ia

18
ANS:
3

[image: image112.png]D -9rD) [#-9)a+d Gipaoy _xe3

7.[7.277.76] TRENED T -9 x





REF:
061803aii

19
ANS:
1

1) [image: image113.png](x+ 3 -1

o bx+9-16=2"+6x-T=(x+Tx-1)



;  2) [image: image114.png]u=x+3
u* = 10u-2u+20
(e~ 10) - 2(u - 10)
(- Dl 10)
(x+3-2)(x+ 3- 10)
x+ Dx-7)



;  3) [image: image115.png]G- DE-DE+1)
ey



;  4) [image: image116.png]G+ D+ Dix+3)
ey = e




REF:
061808aii

20
ANS:


[image: image117.png]PEr)-90x+ ) @ -x+ ) G DE-P@x+D &+ HEx+ D
xG-x) T R G-5 = x





REF:
062331ai

21
ANS:
3

[image: image118.png]g C+de-d) -lc+d) —c-d

P rcd-20 @+icid-©)  d+ic  d+ic




REF:
011818aii

